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1 Z 10 0OmH (0.838m) 4 %8 9:30 8:50 ~ 9:10
2 B 110mH((1.067m) 3 #H 9:45 9:05 ~ 9:25
3 g3 400m 6 %8 9:55 9:15 ~ 9:35
4 2] 400m 12 #8 10:20 9:40 ~ 10:00
5 L8 100m 17 #8 11:05 10:25 ~ 10:45
6 2] 100m 35 #A 11:50 11:10 ~ 11:30
7 g3 1500m 3 #A 13:20 12:40 ~ 13:00
8 5 1500m 9 #8 13:45 13:05 ~ 13:25
. 14:05 ~ 14:25
| X 4x100mR 44 14:45 4~ JERRL] 13:25
. 14:25 ~ 14:45
10 #  4x100mR 6 15:05 T4 SERRGL 13:45
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No i i 15 B 1R R B
5 B e B 4 %
1 10:00 8:30 ~ 9:00
g3 B as B 6 %
2 2 = B Bk 40 4 10:00 9:10 ~ 9:30
3 8 £ mE Bk 56 £& 13:00 12:10 ~ 12:30
<E\ETE>
No i i 15 B 1R R BErERE
B i . 260ke) 5 %&
1 55  faik(6.000ke) 29 & 10:00 9:10 ~ 9:30
XY (0. 600ke) 17 %
2 8 Y (0. 800kg) 50 £& 12:00 11:10 ~ 11:30
3 & Raiix (4. 000kg) 15 4 14:00 13:10 ~ 13:30
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No & i 15 B 1R A B
1 Z 40 0mH (0.762m) 3 #A 9:30 8:50 ~ 9:10
2 B 400mH(0.914m) 4 48 9:40 9:00 ~ 9:20
3 g3 800m 5 %8 10:00 9:20 ~ 9:40
4 5 800m 9 #A 10:20 9:40 ~ 10:00
5 L8 200m 14 #8 11:00 10:20 ~ 10:40
6 2] 200m 25 #A 11:35 10:55 ~ 11:15
7 g3 3000m 2 %8 12:35 11:55 ~ 12:15
8 5 5000m 6 %8 13:10 12:30 ~ 12:50
A4 "~ R L] 13:65
10 B 4x400mR 6 4 15:35 14:55 ~ 15:15
A4 '~ R 14:15
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No i i 15 B 1R R B
5 £ g Bk 92 &
1 10:00 9:10 ~ 9:30
g3 T 5 Bk 26 &
5 T 5 Bk 39 &
2 13:00 12:10 ~ 12:30
g3 = B B 22 &
<E\ETE>
No i i 13 B fn B B
5 FA#&% (2. 000kg) 10 &
1 10:00 9:10 ~ 9:30
=258 HE% 0. 750ke) 33 4
2 Z A#E#% (1. 000kg) 21 & 12:30 11:40 ~ 12:00
55  nuv-#% (6. 000kg) 1 4
3 14:30 13:40 ~ 14:00
L (- (4. 000kg) 1 4




